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Solution: 

(b)  

 

 

 

 

(b) When 𝑥 → ±∞ 

5

𝑥
→ 0, 𝑦 →

2

4 − 0
=

1

2
 

Horizontal asymptote is 
1

2
y = . 
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Example 15 

 

 

Sketch the graph of y = ex. Hence, sketch the graphs of y 

= 2ex and 𝑦 =
1

2
e𝑥 . 
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Exercise 5.3 

Question 6 

 
 

Sketch the polar curve with equation 𝑟 = 1 − sin 𝜃 for  

0 ≤ 𝜃 < 2𝜋. 
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Example 5 

Solution: 

 

𝑃𝑅⃗⃗⃗⃗  ⃗ = 𝑂𝑅⃗⃗⃗⃗  ⃗ − 𝑂𝑃⃗⃗⃗⃗  ⃗ 

= (
−4
11

−16
) − (

2
3

−4
) 

= (
−6
8

−12
) 

= −2(
3

−4
6

) 
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Exercise 6.6 

Question 1: 

 

Show that the line 
2 5

1
2 5

y z
x

+ −
− = =

−
 and 

3 1
1

2 4

x z
y

− −
= + =

−
 intersect, and find the coordinates of 

the point of intersection. 
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ANSWERS 

 

Exercise 1.5 

1.  1. (b) (−3,−1] ∪ [5,∞) 
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STPM PRACTICE 1 

1.  

 

2.  

 

1. (c) Domain: (−∞,∞); Range: [−5,∞) 

 

2. (b) Domain: (−∞,∞); Range: (−∞,∞) 
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STPM PRACTICE 1 

 

22.  

 

22. (b) ( )
1

, 2,
4

 
−   
 
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ANSWERS 

 

Exercise 3.3 

 

1.  

 

 

1. row-echelon form (
7 2 8
0 2 −20
0 0 0

|
14
28
−2

) 

 

Page 215 
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STPM PRACTICE 3 

 

10.  

 

 

10. row-echelon form (
9 1 2
0 −1 − 𝑝 1
0 0 −2 + 𝑝

|
1

−2
−1

) 
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Exercise 4.3 

2.  
2. 

5 5
4 cos isin

6 6
z

  
= + 

 
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Exercise 5.3 

6.  

 

 

 

 

 

 

 

 

6. 

 

 


